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Name: __________________________________


1
A three-inch line segment is dilated by a scale factor of 6 and centered at its midpoint.  What is the length of its image?

2
Line segment [image: image1.png]A'B



, whose endpoints are [image: image2.png]


 and [image: image3.png](16, 14)



, is the image of [image: image4.png]AB



 after a dilation of [image: image5.png]


 centered at the origin.  What is the length of [image: image6.png]AB



?

3
In the diagram below, [image: image7.png]oD



 is the image of [image: image8.png]AB



 after a dilation of scale factor k with center E.
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Which ratio is equal to the scale factor k of the dilation?

4
After a dilation centered at the origin, the image of [image: image10.png]oD



 is [image: image11.png]oD



.  If the coordinates of the endpoints of these segments are [image: image12.png]


, [image: image13.png]


, [image: image14.png]


, and [image: image15.png]


, the scale factor of the dilation is

5
After a dilation with center [image: image16.png]


, the image of [image: image17.png]DE



 is [image: image18.png]


.  If [image: image19.png]


 and [image: image20.png]18



, the scale factor of this dilation is

6
The line represented by [image: image21.png]y=x+38



 is dilated by a scale factor of k centered at the origin, such that the image of the line has an equation of [image: image22.png]


.  What is the scale factor?

7
On the graph below, point [image: image23.png]


 and [image: image24.png]BC



 with coordinates [image: image25.png]


 and [image: image26.png]


 are graphed.

[image: image27.png]



What are the coordinates of B’ and C’ after [image: image28.png]BC



 undergoes a dilation centered at point A with a scale factor of 2?

8
On the set of axes below, the endpoints of [image: image29.png]AB



 have coordinates [image: image30.png]A(-3,4)



 and [image: image31.png]


.

[image: image32.png]



If [image: image33.png]AB



 is dilated by a scale factor of 2 centered at [image: image34.png]


, what are the coordinates of the endpoints of its image, [image: image35.png]4B



?

9
On the set of axes below, [image: image36.png]AB



 is drawn and passes through [image: image37.png]A(=2,6)



 and [image: image38.png]


.

[image: image39.png]> <
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If [image: image40.png]


 is the image of [image: image41.png]AB



 after a dilation with a scale factor of [image: image42.png]


 centered at the origin, which equation represents [image: image43.png]


?

10
The equation of line h is [image: image44.png]2x+y

1



.  Line m is the image of line h after a dilation of scale factor 4 with respect to the origin.  What is the equation of the line m?

11
The equation of line t is [image: image45.png]ix-y=46



.  Line m is the image of line t after a dilation with a scale factor of [image: image46.png]


 centered at the origin.  What is an equation of the line m?

12
The line [image: image47.png]


 is dilated by a scale factor of  [image: image48.png]


 and centered at the origin.  Which equation represents the image of the line after the dilation?

13
What is an equation of the image of the line [image: image49.png]


 after a dilation of a scale factor of [image: image50.png]


 centered at the origin?

14
The line whose equation is [image: image51.png]bx+ 3y



 is dilated by a scale factor of 2 centered at the point [image: image52.png]


.  An equation of its image is

15
Line [image: image53.png]


  is transformed by a dilation with a scale factor of 2 and centered at [image: image54.png]


. The line's image is

16
Line MN is dilated by a scale factor of 2 centered at the point [image: image55.png]


.  If [image: image56.png]


 is represented by [image: image57.png]


, which equation can represent [image: image58.png]


, the image of [image: image59.png]


?

1
ANS:


18 inches

[image: image60.png]



REF:
061602geo

2
ANS:


40

[image: image61.png]A G2-8) 4 (28— -4 = f576+ 1024 1600 = 40




REF:
081621geo

3
ANS:


[image: image62.png]



REF:
061518geo

4
ANS:


[image: image63.png]



[image: image64.png]



REF:
061905geo

5
ANS:


4

[image: image65.png]



REF:
011901geo

6
ANS:


[image: image66.png]



[image: image67.png]


  [image: image68.png]



REF:
012008geo

7
ANS:


[image: image69.png]


 and [image: image70.png]



[image: image71.png]B:(4-33-4) > (1L-1) 5 (2-2) = (2+3-2+4)
O (2-3,1-4) = (-1,-3) = (=2,~6) —> (~2+ 3,6+ 4)




REF:
011713geo

8
ANS:


[image: image72.png]


 and [image: image73.png]



[image: image74.png]A (-3-34-5) = (-6,-1) = (-12,-2) = (-12+3,-2+5)
B (5-3,2-5) — (2-3) — (4,-6) — (44 3,-6+ 5)




REF:
012322geo

9
ANS:


[image: image75.png]



REF:
012416geo

10
ANS:


[image: image76.png]



The given line h, [image: image77.png]2x+y

1



, does not pass through the center of dilation, the origin, because the y-intercept is at [image: image78.png]


.  The slope of the dilated line, m, will remain the same as the slope of line h, -[image: image79.png]


.  All points on line h, such as [image: image80.png]


, the y-intercept, are dilated by a scale factor of 4; therefore, the y-intercept of the dilated line is [image: image81.png]


 because the center of dilation is the origin, resulting in the dilated line represented by the equation [image: image82.png]


.
REF:
spr1403geo

11
ANS:


[image: image83.png]



Another equation of line t is [image: image84.png]


. [image: image85.png]oo =3




REF:
012319geo

12
ANS:


[image: image86.png]



The line [image: image87.png]


 does not pass through the center of dilation, so the dilated line will be distinct from [image: image88.png]


.  Since a dilation preserves parallelism, the line [image: image89.png]


 and its image will be parallel, with slopes of 2.  To obtain the y-intercept of the dilated line, the scale factor of the dilation, [image: image90.png]


, can be applied to the y-intercept, [image: image91.png]


.  Therefore, [image: image92.png]


.  So the equation of the dilated line is [image: image93.png]


.
REF:
fall1403geo

13
ANS:


[image: image94.png]



The line [image: image95.png]


 does not pass through the center of dilation, so the dilated line will be distinct from [image: image96.png]


.  Since a dilation preserves parallelism, the line [image: image97.png]


 and its image will be parallel, with slopes of [image: image98.png]


.  To obtain the y-intercept of the dilated line, the scale factor of the dilation, [image: image99.png]


, can be applied to the y-intercept, [image: image100.png]


.  Therefore, [image: image101.png]


.  So the equation of the dilated line is [image: image102.png]


.
REF:
011924geo

14
ANS:


[image: image103.png]



[image: image104.png]By =—6x+]3
y=-2r+1




REF:
062319geo

15
ANS:


[image: image105.png]



The line [image: image106.png]


 passes through the center of dilation, so the dilated line is not distinct.
REF:
081524geo

16
ANS:


[image: image107.png]



The line [image: image108.png]


 passes through the center of dilation, so the dilated line is not distinct.
REF:
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